GRADING KEY

Name

Homework Assignment #2 ; due Friday, September 15

Cover sheet: Staple this page in front of your solutions.
INSTRUCTIONS: Write the requested answers to the problems (without calculations) on this page;
and write your solutions to the problems (your work, written clearly; no scratch paper) on your
own paper.

[6] Problem 1.35.*  Answer: The distance where the golf ball hits the ground is ...

xF =2 (v,?/g) sin B cos 6
1 point

[7] Problem 1.38.* Answer: The distance from the puck to O, when the puck returns to floor level, is

xF=2v0Xv0y / (gsinB)

1 point
kk 7

[8] Problem 1.39.** (There is no answer to report here.) 2 points
p .

[9] Problem 1.44. (There is no answer to report here.) 1 point

[10] Problem 1.51.***[computer]
(Refer to the Mathematica sample program to get started.)
Hand in the Mathematica program and the plots.
Answer here : Comment on your two graphs ...

THE PERIOD OF OSCILLATION OF THE EXACT SOLUTION IS
GREATER THAN THAT OF THE HARMONIC APPROXIMATION.
5 points
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